
 

4330/(Set : A) P. T. O. 

CLASS : 12th (Sr. Secondary) Code No. 4330 
Series : SS-M/2019 

Roll No.           

tho fo Kkutho fo Kkutho fo Kkutho fo Kku     
BIOLOGY 

[ Hindi and English Medium ] 

ACADEMIC/OPEN 

(Only for Fresh/Re-appear Candidates) 

Time allowed : 3 hours ] [ Maximum Marks : 70 

• d ` i;k  tk¡ p  d j y sa fd  bl iz'u-i= e s a eq fnz r i` "B  16 rF kk      
iz'u 21 gS aA  

Please make sure that the printed pages in this 

question paper are 16 in number and it contains 

21 questions. 

• iz'u-i= es a nk fgus gk F k d h v ks j f n;s x; s d k s M uEc jd k s M uEc jd k s M uEc jd k s M uEc j rF kk l s Vl s Vl s Vl s V  dks 
Nk = m Ùk j-iq f Lrd k ds e q [ ;-i` "B  ij f y[ ks aA 

The Code No. and Set on the right side of the 

question paper should be written by the candidate 

on the front page of the answer-book. 

SET : A 



 ( 2 ) 4330/(Set : A) 

4330/(Set : A) 

• d ` i;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad 
vo'; fy[ksaA 

Before beginning to answer a question, its Serial 

Number must be written. 

• m Ùk j-iq f Lrd k d s c hp  es a [k kyh  iUu k / iUus u N ks Ms a +A 

Don’t leave blank page / pages in your answer-book. 

• mÙkj-iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% 
vko';drkuq lkj gh  f y[ ks a v kS j fy[ kk  m Ù kj u d kV s aA 

Except answer-book, no extra sheet will be given. 

Write to the point and do not strike the written 

answer. 

• ijh {kk F khZ v iuk  jks y  u a0  iz'u-i= ij v o '; fy[ ks aA 

Candidates must write their Roll Number on the 

question paper. 

• d ` i;k  iz'uk s a d k  m Ù kj ns us ls s iw o Z ; g lq f uf 'p r d j y s a f d  iz'u-i=  
iw . kZ o lgh gS] i j h{k k d s m ijk Ur  bl  lEc U/k  es a d ks bZ H kh  nk ok  i j h{k k d s m ijk Ur  bl  lEc U/k  es a d ks bZ H kh  nk ok  i j h{k k d s m ijk Ur  bl  lEc U/k  es a d ks bZ H kh  nk ok  i j h{k k d s m ijk Ur  bl  lEc U/k  es a d ks bZ H kh  nk ok  

L o hd k j u gh a f d ; k  t k; sxkAL o hd k j u gh a f d ; k  t k; sxkAL o hd k j u gh a f d ; k  t k; sxkAL o hd k j u gh a f d ; k  t k; sxkA 

 Before answering the questions, ensure that you 

have been supplied the correct and complete 

question paper, no claim in this regard, will be 

entertained after examination. 



 ( 3 )  4330/(Set : A) 

4330/(Set : A) P. T. O. 

l kek U; f uns Z'k  %l kek U; f uns Z'k  %l kek U; f uns Z'k  %l kek U; f uns Z'k  %     

 (i) l H k h iz 'u v fu ok ; Z gS aAl H k h iz 'u v fu ok ; Z gS aAl H k h iz 'u v fu ok ; Z gS aAl H k h iz 'u v fu ok ; Z gS aA     

 (ii) bl ç 'u-i= e s a d q y  21 iz'u gS a]  tk s pkjpkjpkjpkj  [k . Mks a % v ] c ] v ] c ] v ] c ] v ] c ] 

llll  rF kk  nnnn     es a foH kDr  gS aA 

 (iii) [ k. M  &[ k. M  &[ k. M  &[ k. M  & vvvv  d s iz'u la [ ;k  1 es a pk S ngpk S ngpk S ngpk S ng  (i-xiv) o Lrq f u"B 

iz'u gS aA iz'u (i) ls (v) rd  c gq f od Yih; iz'u gS aA iz R ; s d 

iz'u es a pk j f od Yi fn, x, gS a ft lesa ls lghlghlghlgh  fo dYi d k 

p ;u  d hft ,A iz'u  (vi) ls  (xiv) rd  iz R; s d  d k mÙ k j , d, d, d, d  

; k nksnksnksnks 'k Cnks a ; k o kD;k sa es a nhf t,A iz R;s d  iz'u 1 vad  dk 

gSA 

 (iv) [ k. M[ k. M[ k. M[ k. M  &&&&  cccc  es a iz'u  la [; k 2 ls 11 r d  v f r-y ?kw Ù k jkRe d 

iz'u gS aA iz R; s d  iz'u  d s 2 v a d  gS aA 

 (v) [ k. M  &[ k. M  &[ k. M  &[ k. M  & llll  e s a iz'u la [ ;k  12 l s 18 r d  y?k w Ù kjkRed iz'u  

gS aA iz R ;s d  iz'u d s 3 v ad  gS aA 

 (vi) [ k. M[ k. M[ k. M[ k. M     &&&& nnnn es a iz'u  l a [; k 19 ls 21 rd  nh ?kZ mÙ k jkRe d  

iz'u ga SA iz R; s d  iz'u  d s 5 v a d  gS aA 
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4330/(Set : A) 

 (vii) [ k. M[ k. M[ k. M[ k. M         &&&& nnnn ¼ nh?k Z m Ù kjkR ed iz'u ½  d s nk snk snk snk s  iz'uk s a e sa v k Urf jd  

f od Yi miyC /k gSA , s ls iz' u ks a esa ls v kid ks nh  x; h NwV e s a 

l s d s oyd s oyd s oyd s oy , d, d, d, d  gh  iz'u d ju k gSA 

General Instructions :        

 (i) All questions are compulsory. 

 (ii) This question paper contains 21 questions, 

which are divided into four Sections : A, B, 

C  and D. 

 (iii) Section – A contains question number 1 

having fourteen (i-xiv) objective type questions. 

Question from (i) to (v) multiple choice type 

questions. Each question carries four options, 

from which choose the correct option. The 

answer of each question from (vi) to (xiv) may be 

given in one or two words or sentences. Each 

question carries 1 mark. 

 (iv) Section – B contains question numbers 2 to 

11 of very short answer type questions and 

carry 2 marks each. 



 ( 5 )  4330/(Set : A) 

4330/(Set : A) P. T. O. 

 (v) Section – C contains question numbers 12 to 

18 of short answer type questions and carry 

3 marks each. 

 (vi) Section – D contains question numbers 19 to 

21 of long answer type questions and carry 

5 marks each. 

 (vii) Internal choice is available in two questions 

of Section-D (Long Answer Type Questions). 

You have to attempt only one of the given 

choice in such questions. 

[ k.M[ k.M[ k.M[ k.M – vvvv     

SECTION –  A 

¼ oLr q fu "B iz'u½¼ oLr q fu "B iz'u½¼ oLr q fu "B iz'u½¼ oLr q fu "B iz'u½     

(Objective Type Questions) 

  1. (i) e uq " ; es a v fy a x Ø kse ks l ks e d s fd ru s tk sM+ s gks r s gSa \ 1 

  (A) 44 

  (B) 46 

  (C) 22 

  (D) 23 
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4330/(Set : A) 

  How many pairs of autosomal 

chromosomes are present in human ? 

  (A) 44 

  (B) 46 

  (C) 22 

  (D) 23 

 (ii) l hyk d s aF k D;k  F k h \   1 

  (A) v d 'ks # d h 

  (B) e Nyh 

  (C) mHk ;p j 

  (D) ljhl ` i 

  Coelacanth was a : 

  (A) Invertebrate  

  (B) Fish 

  (C) Amphibian 

  (D) Reptile 



 ( 7 )  4330/(Set : A) 

4330/(Set : A) P. T. O. 

 (iii) , d  f}jTtqd h ; Mh , u , ea s 20% l kbVk s lhu  gSA blea s 

f d r us iz f r'kr F kk; fe u gks xh \ 1 

  (A) 20% 

  (B) 40% 

  (C) 30% 

  (D) 10% 

  A double stranded DNA has 20% cytosine. 

What will be the percentage of thiamine in 

it ? 

  (A) 20% 

  (B) 40% 

  (C) 30% 

  (D) 10% 

 (iv) e ku o d s 'Y' xq . k lw = e a s fdru s t hu  gks r s gS a \ 1 

  (A) 231 

  (B) 456 

  (C) 196 

  (D) 192 



 ( 8 ) 4330/(Set : A) 

4330/(Set : A) 

  How many genes are present in human 'Y' 

chromosome ? 

  (A) 231 

  (B) 456 

  (C) 196 

  (D) 192 

 (v) iz kF k fe d  ylhd kH k  v a x d kS u&l k gS \  1 

  (A) Iy hgk ¼ LIy hu½  

  (B) yl hd k  xz a fF k ;k ¡ 

  (C) is ;j iS p  

  (D) bue s a l s d ks bZ u gha  

  Which is a primary lymphoid organ ? 

  (A) Spleen 

  (B) Lymph node 

  (C) Peyer's patch 

  (D) None of these  



 ( 9 )  4330/(Set : A) 

4330/(Set : A) P. T. O. 

 (vi) r a ck d w ds ik S/ks d h tM + ksa d ks la Ø fer d jus ok ys lw = d` fe  d k 

u ke  f yf [k ,A   1 

  Name the nematode which infects the roots 

of tobacco plant. 

 (vii) m l oS K kfu d d k uk e fyf [k , ftl us ^ lgyXu rk * ¼ f yad s t ½ 

'k Cn f n; kA    1 

  Name the scientist who coined the term 

'linkage'. 

 (viii) 2002 ea s lr r fo d kl ij fo'o lEe s yu  d gk ¡ ij    

gqv k \   1 

  Where was the World Summit of 

Sustainable Development held in 2002 ? 

 (ix) f o; q Drk a Mih v kS j ;q Drk a Mih D;k gS \  1 

  What is Apocarpous and Syncarpous ? 

 (x) ijfu "ks p u fd l s  d gr s gS a \   1 

  What is Xenogamy ? 

 (xi) e /kq e D[k h d h v R; Ur lk ek U; iz tkf r d kS u &lh gS \ 1 

  Which is the most common species of 

honeybee ? 



 ( 10 ) 4330/(Set : A) 

4330/(Set : A) 

 (xii) m l ik S/ ks d k  uk e fyf [k , f tll s d ksd s u iz kI r d h t krh    

gSA    1 

  Name the plant from which Cocaine is 

obtained. 

 (xiii) U ;w e ks fu ;k  d s jks xtud  d k uk e fy f[ k,A 1 

  Name causative organism of Pneumonia. 

 (xiv) MOET d ks fo Lrk fjr d h ft,A  1 

  Write the full form of MOET. 

[k .M[k .M[k .M[k .M – cccc     

SECTION –  B 

¼ v f r¼ v f r¼ v f r¼ v f r-y ?kw Ù k jk Re d  iz 'u½y ?kw Ù k jk Re d  iz 'u½y ?kw Ù k jk Re d  iz 'u½y ?kw Ù k jk Re d  iz 'u½     

(Very Short Answer Type Questions) 

  2. iknik s a e a s f of H kUu  d kf; d  izo/; ks ± d s uk e fyf [k ,A 2 

 Name various vegetative propagules in plants. 



 ( 11 )  4330/(Set : A) 

4330/(Set : A) P. T. O. 

  3. cgq r N ks V s iz k. k h /kzq o h; {k s =ks a e a s f cjys gh D; ka s ik, t krs gS a \  2 

 Why are small animals rarely found in polar 

regions ? 

  4. tS o lf Ø ; v . kq d s mR ik nu  e a s lw{e tho ks a d h D; k H kw fe d k gks rh 

gS \  2 

 What is the role of microbes in the production of 

bioactive molecules ? 

  5. tSo fu;a=.k eas cSD;wyks ok;js lsl dh Hkw fedk fyf[k,A 2 

 Write down the role of Baculoviruses in 

biological control. 

  6. cS f xa x ¼ c ks jk oL= ko j. k ½ r d u hd  D; k gS \  ikn i t uu d k ;Z Ø e  es a 

;g d S ls mi; ks xh gS \  2 

 What is bagging technique ? How is it useful in  

a plant breeding programme ? 



 ( 12 ) 4330/(Set : A) 

4330/(Set : A) 

  7. ,Dlk s U; wf Dy,t  v k S j , a Mks U;w fDy ,t  d s d k ;Z D;k  gSa  \ 2 

 What are the functions of Exonucleases and 

Endonucleases ? 

  8. chVh VkW fDlu ml thok.kq dks D;ksa u gha ekjrk ftlls og curk  

gS] ij vUr% xzg.k djus okys d hV d ks ekj nsrk gS \ 2 

 Why does the Bt toxin not kill the bacterium 

that produces it but kills the insect that ingest 

it ? 

  9. tho d s v kuq o a f'k d  :ik a rj ea s ewy H kw r p j. k  d k S u&ls gksr s gS a \ 2 

 What are the basic steps in genetically modifying 

an organism ? 

10. v a r% fo f'k"V la d j. k D;k  gS \ , d  mnkgj.k  fyf [k ,A 2 

 What is interspecific hybridization ? Write an 

example. 

11. ,U ;q I ykW bMh  vkS j ikW y hIy kW bMh D; k gS \  2 

 What is Aneuploidy and Polyploidy ? 



 ( 13 )  4330/(Set : A) 

4330/(Set : A) P. T. O. 

[ k.M[ k.M[ k.M[ k.M – llll     

SECTION –  C 

¼ y?k w Ù kjkR ed  iz'u ½¼ y?k w Ù kjkR ed  iz'u ½¼ y?k w Ù kjkR ed  iz'u ½¼ y?k w Ù kjkR ed  iz'u ½     

(Short Answer Type Questions) 

12. v i? kV u D;k  gS \ v i?k Vu  d h xf r d ks fu ;f er d jus ok ys 
tyo k; q o h; ?k Vd  d k S u&ls gS a \ 3 

 What is Decomposition ? What are the climatic 

factors that regulate it ? 

13. fo'ks "k  l ` f"V d s f l) kU r ds rh u v fH k/ kku  D; k gSa  \ 3 

 What are the three connotations of theory of 

special creation ? 

14. nf{k. k h v es f jd k d s v es tu m" . kd f Vc U/kh  o"k kZ o uk a s d h tS o 
fo fo/kr k d s ck js ea s f yf[ k,A 3 

 Write about the biodiversity in Tropical 

Amazonian rain forest in South America. 

15. v ku q oa f 'k d r% :ik a rf jr Q lyk s a d s m Riknu d s D;k  y kH k gS a \ 3 

 What are the advantages of production of 

genetically modified crops ? 



 ( 14 ) 4330/(Set : A) 

4330/(Set : A) 

16. fo fH k Uu dS u s fcu kW bM  M ª xk sa d k o. kZ u  d hf t,A 3 

 Describe various Cannabinoid drugs. 

17. fc a nq mRifjo rZ u  ¼ ikW ba V E;w V s'ku ½ v kS j Ý s e  f'k ¶V E; w Vs'k u D;k  

gSa \ mR if jo r Zt u ls v kid k  D; k v fH k iz k ; gS \  d ks bZ , d, d, d, d  

mnkgj. k nhft ,A  3 

 What are point mutation and frame shift 

mutation ? What do you mean by a mutagen ? 

Give any one example. 

18. Vs LV V~; w c c s ch d k ;Z Ø e  d k o .k Z u d h ft,A 3 

 Describe Test Tube Baby Programme. 

[k .M[k .M[k .M[k .M – nnnn     

SECTION –  D 

¼ nh ? kZ m Ù k jk Re d  iz'u ½¼ nh ? kZ m Ù k jk Re d  iz'u ½¼ nh ? kZ m Ù k jk Re d  iz'u ½¼ nh ? kZ m Ù k jk Re d  iz'u ½     

(Long Answer Type Questions) 

19. 'kks j D;k  gks r k gS \ 'kks j iz nw "k . k d s D; k izH k ko gks r s gS a \ 5 

 What is Noise ? What are the effects of noise 

pollution ? 
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4330/(Set : A) P. T. O. 

v F ko kv F ko kv F ko kv F ko k     

OR    

    v ks t+ k su v o{k ; fd l iz d k j gks r k gS \ ijk cS a xuh  f of d j.k  d s c <+ us 

ls ge kjs Å ij fd l  iz d k j izH kko iM s +a xs  \  5  

 How does ozone depletion take place ? How will 

enhanced ultraviolet radiation affect us ? 

20. v uq y s [k u bd kbZ d h la jpu k d k fo Lr `r o. k Z u d hf t,A 5 

 Describe the structure of transcription unit in 

detail. 

v F ko kv F ko kv F ko kv F ko k     

OR    

    f} d qa My h Mh , u , d h la jpuk  d h eq [ ; f o'ks " kr k, ¡ f yf[ k,A 5 

 Write down the salient features of double helix 

structure of DNA. 



 ( 16 ) 4330/(Set : A) 

4330/(Set : A) 

21. 'kq Ø t ud uf yd kv k sa d s ukek a fd r v k js [ kh ; d kV d k fp=  c ukb, 

v kS j bl d h la jpu k d k o . kZu d h ft,A 5 

 Draw a well labelled sectional view of 

seminiferous tubule and explain its structure. 

S 
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CLASS : 12th (Sr. Secondary) Code No. 4330 
Series : SS-M/2019 

Roll No.           

tho fo Kkutho fo Kkutho fo Kkutho fo Kku     
BIOLOGY 

[ Hindi and English Medium ] 

ACADEMIC/OPEN 

(Only for Fresh/Re-appear Candidates) 

Time allowed : 3 hours ] [ Maximum Marks : 70 

• d ` i;k  tk¡ p  d j y sa fd  bl iz'u-i= e s a eq fnz r i` "B  16 rF kk      
iz'u 21 gS aA  

Please make sure that the printed pages in this 

question paper are 16 in number and it contains 

21 questions. 

• iz'u-i= es a nk fgus gk F k d h v ks j f n;s x; s d k s M uEc jd k s M uEc jd k s M uEc jd k s M uEc j rF kk l s Vl s Vl s Vl s V  dks 
Nk = m Ùk j-iq f Lrd k ds e q [ ;-i` "B  ij f y[ ks aA 

The Code No. and Set on the right side of the 

question paper should be written by the candidate 

on the front page of the answer-book. 

SET : B 



 ( 2 ) 4330/(Set : B) 

4330/(Set : B) 

• d ` i;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad 
vo'; fy[ksaA 

Before beginning to answer a question, its Serial 

Number must be written. 

• m Ùk j-iq f Lrd k d s c hp  es a [k kyh  iUu k / iUus u N ks Ms a +A 

Don’t leave blank page / pages in your answer-book. 

• mÙkj-iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% 
vko';drkuq lkj gh  f y[ ks a v kS j fy[ kk  m Ù kj u d kV s aA 

Except answer-book, no extra sheet will be given. 

Write to the point and do not strike the written 

answer. 

• ijh {kk F khZ v iuk  jks y  u a0  iz'u-i= ij v o '; fy[ ks aA 

Candidates must write their Roll Number on the 

question paper. 

• d ` i;k  iz'uk s a d k  m Ù kj ns us ls s iw o Z ; g lq f uf 'p r d j y s a f d  iz'u-i=  
iw . kZ o lgh gS] i j h{k k d s m ijk Ur  bl  lEc U/k  es a d ks bZ H kh  nk ok  i j h{k k d s m ijk Ur  bl  lEc U/k  es a d ks bZ H kh  nk ok  i j h{k k d s m ijk Ur  bl  lEc U/k  es a d ks bZ H kh  nk ok  i j h{k k d s m ijk Ur  bl  lEc U/k  es a d ks bZ H kh  nk ok  

L o hd k j u gh a f d ; k  t k; sxkAL o hd k j u gh a f d ; k  t k; sxkAL o hd k j u gh a f d ; k  t k; sxkAL o hd k j u gh a f d ; k  t k; sxkA 

 Before answering the questions, ensure that you 

have been supplied the correct and complete 

question paper, no claim in this regard, will be 

entertained after examination. 



 ( 3 )  4330/(Set : B) 

4330/(Set : B) P. T. O. 

l kek U; f uns Z'k  %l kek U; f uns Z'k  %l kek U; f uns Z'k  %l kek U; f uns Z'k  %     

 (i) l H k h iz 'u v fu ok ; Z gS aAl H k h iz 'u v fu ok ; Z gS aAl H k h iz 'u v fu ok ; Z gS aAl H k h iz 'u v fu ok ; Z gS aA     

 (ii) bl ç 'u-i= e s a d q y  21 iz'u gS a]  tk s pkjpkjpkjpkj  [k . Mks a % v ] c ] v ] c ] v ] c ] v ] c ] 

llll  rF kk  nnnn     es a foH kDr  gS aA 

 (iii) [ k. M  &[ k. M  &[ k. M  &[ k. M  & vvvv  d s iz'u la [ ;k  1 es a pk S ngpk S ngpk S ngpk S ng  (i-xiv) o Lrq f u"B 

iz'u gS aA iz'u (i) ls (v) rd  c gq f od Yih; iz'u gS aA iz R ; s d 

iz'u es a pk j f od Yi fn, x, gS a ft lesa ls lghlghlghlgh  fo dYi d k 

p ;u  d hft ,A iz'u  (vi) ls  (xiv) rd  iz R; s d  d k mÙ k j , d, d, d, d  

; k nksnksnksnks 'k Cnks a ; k o kD;k sa es a nhf t,A iz R;s d  iz'u 1 vad  dk 

gSA 

 (iv) [ k. M[ k. M[ k. M[ k. M  &&&&  cccc  es a iz'u  la [; k 2 ls 11 r d  v f r-y ?kw Ù k jkRe d 

iz'u gS aA iz R; s d  iz'u  d s 2 v a d  gS aA 

 (v) [ k. M  &[ k. M  &[ k. M  &[ k. M  & llll  e s a iz'u la [ ;k  12 l s 18 r d  y?k w Ù kjkRed iz'u  

gS aA iz R ;s d  iz'u d s 3 v ad  gS aA 

 (vi) [ k. M[ k. M[ k. M[ k. M     &&&& nnnn es a iz'u  l a [; k 19 ls 21 rd  nh ?kZ mÙ k jkRe d  

iz'u ga SA iz R; s d  iz'u  d s 5 v a d  gS aA 



 ( 4 ) 4330/(Set : B) 

4330/(Set : B) 

 (vii) [ k. M[ k. M[ k. M[ k. M     &&&& nnnn ¼ nh?k Z mÙ kjkR ed iz'u ½ d s nk snk snk snk s  iz'uk sa e sa v k Urf jd 

f od Yi miyC /k gSA , s ls iz' u ks a esa ls v kid ks nh  x; h NwV e s a 

l s d s oy , d, d, d, d  gh  iz'u d juk gSA 

General Instructions :        

 (i) All questions are compulsory. 

 (ii) This question paper contains 21 questions, 

which are divided into four Sections : A, B, 

C  and D. 

 (iii) Section – A contains question number 1 

having fourteen (i-xiv) objective type questions. 

Question from (i) to (v) multiple choice type 

questions. Each question carries four options, 

from which choose the correct option. The 

answer of each question from (vi) to (xiv) may be 

given in one or two words or sentences. Each 

question carries 1 mark. 

 (iv) Section – B contains question numbers 2 to 

11 of very short answer type questions and 

carry 2 marks each. 



 ( 5 )  4330/(Set : B) 

4330/(Set : B) P. T. O. 

 (v) Section – C contains question numbers 12 to 

18 of short answer type questions and carry 

3 marks each. 

 (vi) Section – D contains question numbers 19 to 

21 of long answer type questions and carry 

5 marks each. 

 (vii) Internal choice is available in two questions 

of Section-D (Long Answer Type Questions). 

You have to attempt only one of the given 

choice in such questions. 

[ k.M[ k.M[ k.M[ k.M – vvvv     

SECTION –  A 

¼ oLr q fu "B iz'u½¼ oLr q fu "B iz'u½¼ oLr q fu "B iz'u½¼ oLr q fu "B iz'u½     

(Objective Type Questions) 

  1. (i) f uEu fy f[ kr esa ls d kS u&lk  f od k j ¼ fl a Mª ks e ½ cgq xq f . krk d k 
m nkgj. k  gS \ 1 

  (A) M kmu  

  (B) Dykbu Q s YVj 

  (C) V uZ j 

  (D) bue s a l s d ks bZ u gha 
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4330/(Set : B) 

  Which of the following syndrome is an 

example of polyploidy ? 

  (A) Down 

  (B) Klinefelter 

  (C) Turner  

  (D) None of these  

 (ii) 200 f ef y;u  o"k Z iw o Z l aH ko r%  e Nyh  t S lk ljh l` i d s :i 

e s a dkS u &l k iz d V gqv k  \   1 

  (A) V kbjS uks l ks jl  

  (B) bfDF k; ks lk s jl 

  (C) iS fyd ks lk s jl 

  (D) bue s a l s d ks bZ u gha  

  Which fish like reptile evolved probably 

200 mya ? 

  (A) Tyrannosaurus 

  (B) Ichthyosaurs 

  (C) Pelycosaurs 

  (D) None of these  
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4330/(Set : B) P. T. O. 

 (iii) f uEu  e sa ls fd l  v ehuk s v Ey d k d s oy , d v kuq oaf'k d  

d w V gks rk  gS \   1 

  (A) Xy wV ke kbu 

  (B) fV ª IV ks Q ku 

  (C) , Lis jkt hu  

  (D) v kblk s Y;w f lu 

  Which of the following amino acid has only 

single genetic code ? 

  (A) Glutamine 

  (B) Tryptophan 

  (C) Asparagine 

  (D) Isoleucine 

 (iv) nw r v kj ,u  , (mRNA) d ks d k S u v u q ys f[ kr d jrk      

gS %    1 

  (A) v kj ,u  , ikW yh ejs t+ I 

  (B) v kj ,u  , ikW yh ejs t+ II 

  (C) v kj ,u  , ikW yh ejs t+ III 

  (D) M h ,u  , ik W yhe js t+ 
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  mRNA is transcribed by : 

  (A) RNA polymerase I 

  (B) RNA polymerase II 

  (C) RNA polymerase III 

  (D) DNA polymerase 

 (v) f uEu  es a ls d kS u &lk v la Ø ked  jks x gS \ 1 

  (A) d S a lj  

  (B) , M~l 

  (C) (A) v k S j (B) nks u ks a 

  (D) fja xoe Z 

  Which of the following is a non-infectious 

disease ? 

  (A) Cancer 

  (B) AIDS 

  (C) Both (A) & (B) 

  (D) Ringworm 
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 (vi) m u o SK kf ud k s a d k u ke fy f[ k, f tUgks au s o a'k kxfr d k 

Ø ks eks lks e  fl) k Ur fn; kA   1 

  Name the scientists who gave chromosomal 

theory of inheritance. 

 (vii) f j;ks&f M&ts u s jk s e s a i`F oh lEe s yu  fd l o "k Z es a gqvk     

F k k \    1 

  In which year the Earth Summit was held 

in Rio-de-Janeiro ? 

 (viii) ifjH k z w. k ik s "k fd l s d gr s gS a \ ;g f d u ch tks a es a ik ;k  tk rk 

gS \    1 

  What is perisperm ? In which seeds it is 

present ? 

 (ix) ^ ck ;ks ikbjs lh * fd ls  d gr s gS a \  1 

  What is 'Biopiracy' ? 

 (x) l tkr iq" ih  ijkx. k D; k gS \    1 

  What is Geitonogamy ? 

 (xi) ^ ik s es V ks* D;k  gS \   1 

  What is 'Pomato' ? 
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 (xii) , M~l  d s O;k id :i ls d k e  es a yk; k tku s o ky k d kSu&lk  

u S nkfu d  ijh {k . k fd ; k tk rk gS \  1 

  Which diagnostic test is widely used to 

detect AIDS ? 

 (xiii) V kbQ k W bM  ds jk s xt ud  d k u ke  f yf[ k,A 1 

  Name causative organism of Typhoid. 

 (xiv) IRRI d ks f oLr kfjr d hft ,A   1 

  Write the full form of IRRI. 

[k .M[k .M[k .M[k .M – cccc     

SECTION –  B 

¼ v f r¼ v f r¼ v f r¼ v f r-y ?kw Ù k jk Re d  iz 'u½y ?kw Ù k jk Re d  iz 'u½y ?kw Ù k jk Re d  iz 'u½y ?kw Ù k jk Re d  iz 'u½     

(Very Short Answer Type Questions) 

  2. ck á  fu "ks pu  d s ykH k  v k S j gkfu ;k ¡ D; k gSa  \ 2 

 What are the advantages and disadvantages of 

external fertilization ? 
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  3. ijt ho ks a d h fo fH k Uu v uqd wyrk ,¡ D;k  gS a \  2 

 What are the various adaptations of parasites ? 

  4. ek bd ks jkbt+ k  D;k  gS \ bld s m i; ks x D; k gS a \ 2 

 What is mycorrhiza ? What are its uses ? 

  5. ck;ksdsfedy vkWDlhtu fMekaM ¼ ch vks Mh½ D;k gS \ ;g D;k  

n'kkZ rk gS \ 2 

 What is Biochemical Oxygen Demand (BOD) ? 

What does it indicate ? 

  6. f= &l a y; u D ;k  gS \ ; g d gk¡ v k S j d S ls la iUu  gk s rh gS \  

f= &l a y; u ea s lf Eef yr U; w fDyv k bZ d k  u ke  c rk b,A 2 

 What is triple fusion ? Where & how does it take 

place ? Name the nuclei involved in triple fusion. 

  7. iSf ya M ª kse D;k  gSa  \ , d  mnkgj. k lfgr O ;k[ ; k d hf t,A 2 

 What are palindromes ? Explain with an 

example. 



 ( 12 ) 4330/(Set : B) 

4330/(Set : B) 

  8. vkuqoaf'kd fufeZ r yfld k.kqvkasa }kjk ,sfMuks lhu fM,seh ust+ U;wurk  

ds mipkj d s ckjs eas fyf[ k,A 2 

 Write about the treatment of adenosine 

deaminase deficiency by genetically engineered 

lymphocytes. 

  9. iqu ;k s Z xt  Mh  , u , d ks ijik s "kh  d k s f'kd kv ks a es a iz o s'k  d jku s d h 

lw{e v ar%{k s i. k  ¼ e kbØ ks ba ts D'ku ½ v k S j ck ;k s fyf LVd  fo f/k  D;k   

gS \  2 

 What is the microinjection and biolistics method 

to introduce the recombinant DNA into the host 

cells ? 

10. lQ y  e/kq eD[k h&ikyu  d s fy , v R ;a r egÙ oiw . kZ fca nq d kS u &ls 

gSa \  2 

 What are the important points for successful 

Bee-keeping ? 

11. v iw . k Z izH kk fo rk  v k S j lgizH kkf or k D;k  gS \ 2 

 What is incomplete dominance and co-

dominance ? 
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[ k.M[ k.M[ k.M[ k.M – llll     

SECTION – C 

¼ y?k w Ù kjkR ed  iz'u ½¼ y?k w Ù kjkR ed  iz'u ½¼ y?k w Ù kjkR ed  iz'u ½¼ y?k w Ù kjkR ed  iz'u ½     

(Short Answer Type Questions) 

12. ty e a s iz kF k fe d  v u qØ e .k  d k o. k Z u d hf t,A  3 

 Describe primary succession in water. 

13. izk d ` fr d  oj. k d k  'k yH k ¼e ksF k½  ds m nk gj. k lf gr o. kZ u  d hf t,A3 

 Explain natural selection with an example of 

moth. 

14. fd l h {ks = d h tS o fo fo/k rk  d h gkfu  gks u s ds D;k ifj. kke  gks rs 
gSa \  3 

 What are the consequences of loss of biodiversity 

in a region ? 

15. ikjtho h ta r qv ks a ¼ Vª ka l~ts fud  ,f ue Yl½ d h tS f od  m Rikn e s a 
H kw f ed k  d k  o. kZu  d hf t,A 3 

 Explain the role of transgenic animals in 

biological products. 
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16. ra c kd w ds ls o u d s gkfu d kjd  izH kko D; k gS a \ 3 

 What are the harmful effects of using Tobacco ? 

17. ek W xZ u  d s d k; Z d s fy , Mª ksl ks fQ yk es y uks xS LV j D; ks a mi;q Dr ikbZ 

xbZ \  3 

 Why Drosophila melanogaster was found 

suitable for Morgan's work ? 

18. fofHkUu var%xHkkZ'k;h ;qfDr;ksa ¼bUVªk&;wVsjkbu fMokbl ¼vkbZ ;w Mh½ 

dk o.kZu dhft,A 3 

 Describe various Intra-Uterine Devices (IUD). 

[k .M[k .M[k .M[k .M – nnnn     

SECTION –  D 

¼ nh ? kZ m Ù k jk Re d  iz'u ½¼ nh ? kZ m Ù k jk Re d  iz'u ½¼ nh ? kZ m Ù k jk Re d  iz'u ½¼ nh ? kZ m Ù k jk Re d  iz'u ½     

(Long Answer Type Questions) 

19. 'kS o ky iz LQ q Vu  D; k gS \ bld s izH k ko f yf[ k,A 5 

 What is Algal bloom ? Write its effects. 
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v F ko kv F ko kv F ko kv F ko k     

OR    

    xz h u gkm l izH kk o d k  o . kZ u  d hft ,A   5  

 Describe Green House Effect. 

20. Mh  , u , d h ikW y hU; w fDy;ks V kbM Ük ` a [k yk d h jklk ;f ud  la jpuk 

d k o . kZ u d h ft,A 5 

 Describe the chemical structure of a 

polynucleotide chain of DNA. 

v F ko kv F ko kv F ko kv F ko k     

OR    

    g"ks Z v k S j ps l iz ; ks x d k o . kZ u  d h ft,A ft lus fl) f d ; k fd 

Mh  , u , v k uq o a f'k d  inkF k Z gSA   5 

 Describe Hershey-Chase experiment to prove 

that DNA is the genetic material. 
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21. Lru  xz a fF k d k v kjs [k h; d k V d k u ke ka f d r fp=  c ukb,A bld h  

la jpu k d k o .k Zu d h ft,A 5 

 Draw a well labelled diagrammatic sectional view 

of mammary gland. Describe its structure. 

S 
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• d ` i;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad 
vo'; fy[ksaA 

Before beginning to answer a question, its Serial 

Number must be written. 

• m Ùk j-iq f Lrd k d s c hp  es a [k kyh  iUu k / iUus u N ks Ms a +A 

Don’t leave blank page / pages in your answer-book. 

• mÙkj-iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% 
vko';drkuq lkj gh  f y[ ks a v kS j fy[ kk  m Ù kj u d kV s aA 

Except answer-book, no extra sheet will be given. 

Write to the point and do not strike the written 

answer. 

• ijh {kk F khZ v iuk  jks y  u a0  iz'u-i= ij v o '; fy[ ks aA 

Candidates must write their Roll Number on the 

question paper. 

• d ` i;k  iz'uk s a d k  m Ù kj ns us ls s iw o Z ; g lq f uf 'p r d j y s a f d  iz'u-i=  
iw . kZ o lgh gS] i j h{k k d s m ijk Ur  bl  lEc U/k  es a d ks bZ H kh  nk ok  i j h{k k d s m ijk Ur  bl  lEc U/k  es a d ks bZ H kh  nk ok  i j h{k k d s m ijk Ur  bl  lEc U/k  es a d ks bZ H kh  nk ok  i j h{k k d s m ijk Ur  bl  lEc U/k  es a d ks bZ H kh  nk ok  

L o hd k j u gh a f d ; k  t k; sxkAL o hd k j u gh a f d ; k  t k; sxkAL o hd k j u gh a f d ; k  t k; sxkAL o hd k j u gh a f d ; k  t k; sxkA 

 Before answering the questions, ensure that you 

have been supplied the correct and complete 

question paper, no claim in this regard, will be 

entertained after examination. 
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l kek U; f uns Z'k  %l kek U; f uns Z'k  %l kek U; f uns Z'k  %l kek U; f uns Z'k  %     

 (i) l H k h iz 'u v fu ok ; Z gS aAl H k h iz 'u v fu ok ; Z gS aAl H k h iz 'u v fu ok ; Z gS aAl H k h iz 'u v fu ok ; Z gS aA     

 (ii) bl ç 'u-i= e s a d q y  21 iz'u gS a]  tk s pkjpkjpkjpkj  [k . Mks a % v ] c ] v ] c ] v ] c ] v ] c ] 

llll  rF kk  nnnn     es a foH kDr  gS aA 

 (iii) [ k. M  &[ k. M  &[ k. M  &[ k. M  & vvvv  d s iz'u la [ ;k  1 es a pk S ngpk S ngpk S ngpk S ng  (i-xiv) o Lrq f u"B 

iz'u gS aA iz'u (i) ls (v) rd  c gq f od Yih; iz'u gS aA iz R ; s d 

iz'u es a pk j f od Yi fn, x, gS a ft lesa ls lghlghlghlgh  fo dYi d k 

p ;u  d hft ,A iz'u  (vi) ls  (xiv) rd  iz R; s d  d k mÙ k j , d, d, d, d  

; k nksnksnksnks 'k Cnks a ; k o kD;k sa es a nhf t,A iz R;s d  iz'u 1 vad  dk 

gSA 

 (iv) [ k. M[ k. M[ k. M[ k. M  &&&&  cccc  es a iz'u  la [; k 2 ls 11 r d  v f r-y ?kw Ù k jkRe d 

iz'u gS aA iz R; s d  iz'u  d s 2 v a d  gS aA 

 (v) [ k. M  &[ k. M  &[ k. M  &[ k. M  & llll  e s a iz'u la [ ;k  12 l s 18 r d  y?k w Ù kjkRed iz'u  

gS aA iz R ;s d  iz'u d s 3 v ad  gS aA 

 (vi) [ k. M[ k. M[ k. M[ k. M     &&&& nnnn es a iz'u  l a [; k 19 ls 21 rd  nh ?kZ mÙ k jkRe d  

iz'u ga SA iz R; s d  iz'u  d s 5 v a d  gS aA 
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 (vii) [ k. M[ k. M[ k. M[ k. M     & n& n& n& n ¼ nh?k Z m Ù kjkRed  iz'u ½ d s nksnksnksnks  iz'u ks a es a v kUrf jd  

f od Yi miyC /k gSA , s ls iz' u ks a esa ls v kid ks nh  x; h NwV e s a 

l s d s oyd s oyd s oyd s oy , d, d, d, d  gh  iz'u d ju k gSA 

General Instructions :        

 (i) All questions are compulsory. 

 (ii) This question paper contains 21 questions, 

which are divided into four Sections : A, B, 

C  and D. 

 (iii) Section – A contains question number 1 

having fourteen (i-xiv) objective type questions. 

Question from (i) to (v) multiple choice type 

questions. Each question carries four options, 

from which choose the correct option. The 

answer of each question from (vi) to (xiv) may be 

given in one or two words or sentences. Each 

question carries 1 mark. 

 (iv) Section – B contains question numbers 2 to 

11 of very short answer type questions and 

carry 2 marks each. 
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 (v) Section – C contains question numbers 12 to 

18 of short answer type questions and carry 

3 marks each. 

 (vi) Section – D contains question numbers 19 to 

21 of long answer type questions and carry 

5 marks each. 

 (vii) Internal choice is available in two questions 

of Section-D (Long Answer Type Questions). 

You have to attempt only one of the given 

choice in such questions. 

[ k.M[ k.M[ k.M[ k.M – vvvv     

SECTION –  A 

¼ oLr q fu "B iz'u½¼ oLr q fu "B iz'u½¼ oLr q fu "B iz'u½¼ oLr q fu "B iz'u½     

(Objective Type Questions) 

  1. (i) f uEu  es a ls d kS u&l k v f ya x Ø k s ek s lks e  y Xu v izHkko h y{k .k 
gS \ 1 

  (A) fl d y ls y , fu fe ;k 

  (B) fQ ukby dhV ks U; w fj; k 

  (C) (A) v k S j (B) nks u ks a 

  (D) ghe ks Q hf y; k 
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  Which of the following is an autosomal 

linked recessive trait ? 

  (A) Sickle cell anaemia 

  (B) Phenylketonuria 

  (C) Both (A) & (B) 

  (D) Haemophilia 

 (ii) 1938 es a lh ykd s aFk d gk¡ ls id M + h xbZ F kh  \ 1 

  (A) m Ùk jh v es f jd k  ls 

  (B) nf{k. k h v es f jd k ls 

  (C) H kk jro "kZ ls 

  (D) nf{k. k h v Ý hd k ls 

  In 1938 Coelacanth was Caught from : 

  (A) North America 

  (B) South America  

  (C) India 

  (D) South Africa 
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 (iii) U ;w fDy; ks l kbM d s gk bM ª ks fyfl l ls f d ld h  iz kf Ir u gh au gh au gh au gh a 

gks r h \   1 

  (A) I; w jhu  

  (B) fijkf efM u 

  (C) is UVk s l 'kq xj 

  (D) Q k W LQ ks f jd  v Ey 

  The hydrolysis of nucleoside would not 

yield : 

  (A) Purine 

  (B) Pyramidine 

  (C) Pentose sugar 

  (D) Phosphoric acid 

 (iv) e ku o xq .k lw =  u a0  1 esa f dru s t hu  gks r s gS a  \ 1 

  (A) 231 

  (B) 456 

  (C) 2968 

  (D) 3600 
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  How many genes are present in human 

Chromosome No. 1 ? 

  (A) 231 

  (B) 456 

  (C) 2968 

  (D) 3600 

 (v) d kS u&lk  f}r h; d  ylhd kH k  v a x gS \ 1 

  (A) LIy hu  

  (B) v fLF k  e Ttk 

  (C) F kk bel  

  (D) bue s a l s d ks bZ u gha  

  Which is a secondary lymphoid organ ? 

  (A) Spleen 

  (B) Bone marrow 

  (C) Thymus 

  (D) None of these  
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 (vi) ^ Lo; q Xeu * ¼ v kW V ks xS eh ½ D; k gS \  1 

  What is 'autogamy' ? 

 (vii) t hu  f pfd R lk D;k  gS \   1 

  What is gene therapy ? 

 (viii) , d  H kk S frd  m Rifjo rZ tu  d k uk e fy f[ k,A 1 

  Name one physical mutagen. 

 (ix) v k H kkl h Q y D;k  gSa  \ , d mnkgj. k nh ft,A  1 

  What are false fruits ? Give an example. 

 (x) c ká LF kku s ¼ , Dl&lh Vw½ la j{k . k  D; k gS \ 1 

  What is ex-situ conservation ? 

 (xi) t S o&iq f"V d j. k D; k gS \    1 

  What is biofortification ? 

 (xii) f d l ijh{k . k d s }k jk V kbQ k W bM  To j d h iq f "V gks l d rh     

gS \    1 

  By which test typhoid fever could be 

confirmed ? 
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 (xiii) Q hyikW o ¼ ,f yQ S a f V, fll ½ d s jk s xt ud  d k uke  f yf[ k,A 1 

  Name causative organism of Elephantiasis. 

 (xiv) IARI d k s f oLr kf jr d hf t,A   1 

  Write the full form of IARI. 

[k .M[k .M[k .M[k .M – cccc     

SECTION –  B 

¼ v f r¼ v f r¼ v f r¼ v f r-y ?kw Ù k jk Re d  iz 'u½y ?kw Ù k jk Re d  iz 'u½y ?kw Ù k jk Re d  iz 'u½y ?kw Ù k jk Re d  iz 'u½     

(Very Short Answer Type Questions) 

  2. ikF ks Z u ks tsu s fll  D;k  gS \ fd Ugha nk snk snk snk s tho ks a d s uke  f yf[ k, f tues a 

;g ik bZ tk rh  gSA  2 

 What is parthenogenesis ? Name any two 

organisms in which it takes place. 

  3. cz w M  iS jkf lfV Te d s ck js es a fyf [k ,A 2 

 Write about brood parasitism. 
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  4. tS o&m o Z jd k a s ds : i es a c S DVhf j; k d h  H k w fed k fyf [k ,A 2 

 Write down the role of bacteria as biofertilizers. 

  5. lw{ethoh tSo&fu;a =.k dkjd fdl izdkj cVj¶ykbZ dSVjfiyj dk 

fu;a=.k djrs gSa \ 2 

 How does microbial biocontrol agents control 

butterfly caterpillars ? 

  6. d hV ijk fxr Q w yk s a d h  fo fH kUu  fo'ks "kr k, ¡ D; k gS a \ 2 

 What are the various characteristics of insect 

pollinated flowers ? 

  7. ,d  th ok .k q d k sf'kd k d k s Mh , u , ys us gs r q f d l iz d k j l{ke  

cu k; k tkr k gS \ 2 

 How is bacterial cell made competent to take up 

DNA ? 
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  8. ml tho dk uke crkb, tks ØkbZ izksVhUl iS nk d jrk gSA euq"; 

bl izksVhu dks v ius Qk;ns ds fy, dSls mi;ks x esa ykrk  gS \ 2 

 Name an organism that produce cry proteins. 

How has man exploited this protein to his 

benefit ? 

  9. ^ c k;k s fj, DV j* d s c kjs ea s fyf[ k,A 2 

 Write about 'bioreactors'. 

10. ek s uk s lkse h v kS j Vª kblks e h D;k  gS \ izR ;s d  d k ,d,d,d,d  mnkgj.k  

nhft ,A 2 

 What is monosomy and trisomy ? Give one 

example of each. 

11. eYV hiy v ks O; w ys'ku  ,fEc z ;k s V ª ka lQ j rd uhd  (MOET) d s c kjs 

es a fy f[ k,A 2 

 Write about Multiple Ovulation Embryo Transfer 

Technology (MOET). 
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[ k.M[ k.M[ k.M[ k.M – llll     

SECTION –  C 

¼ y?k w Ù kjkR ed  iz'u ½¼ y?k w Ù kjkR ed  iz'u ½¼ y?k w Ù kjkR ed  iz'u ½¼ y?k w Ù kjkR ed  iz'u ½     

(Short Answer Type Questions) 

12. ikfjfLF k fr d h fijkf eM  d h  lhe k, ¡ D; k gSa  \ 3 

 What are the limitations of Ecological 

pyramids ? 

13. fo d kl  d h fØ ; kf of /k d k o. kZ u d h ft,A 3 

 Describe mechanism of evolution. 

14. tS o fo fo/k rk d s l a j{k . k d s fy , O; kid :i ls mi ;k s xh  r d Z d k 
o. k Z u d hf t,A 3 

 Describe the broadly utilarian argument for 

conserving biodiversity. 

15. ikjtho h tUr q ¼ Vª ka l~ts fu d ,f ue Yl½ D;k gS a \ jks x ds v /; ;u  e sa 
b ud h  D; k H kw fed k gS \ 3 

 What are transgenic animals ? Explain their role 

in study of disease. 
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16. ,ythZ D;k gS \ ,ythZ ds fy, ekLV dksf 'kdkvksa ls dkSu&ls 

jlk;u fudyrs gSa \ ,ythZ ; vuqfØ;kvksa ds y{k.kksa dks fyf[k,A 3 

 What is Allergy ? What are the chemicals 

released from mast cells for allergy ? Write down 

the symptoms of allergic reactions. 

17. fd u  d k j.k ksa ls 1900 bZ0  rd  es a My d k d k;Z vKk r gh  jgk  

gS \  3 

 What were the reasons due to which Mendel's 

work remained unrecognized till 1900 AD ? 

18. eq¡g ls ysus ;ks X; xHkZfujks/kdksa dk o.kZu dhft,A 3 

 Describe oral contraceptives. 

[k .M[k .M[k .M[k .M – nnnn     

SECTION –  D 

¼ nh ? kZ m Ù k jk Re d  iz'u ½¼ nh ? kZ m Ù k jk Re d  iz'u ½¼ nh ? kZ m Ù k jk Re d  iz'u ½¼ nh ? kZ m Ù k jk Re d  iz'u ½     

(Long Answer Type Questions) 

19. fo'oO ;k ih  m ". kr k d s d kj. kk s a v k S j izH kko ks a d k  o . kZ u d hft ,A 5 

 Discuss the causes and effects of Global 

Warming. 
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v F ko kv F ko kv F ko kv F ko k     

OR    

    ^ >w e  [ ks r h*  d k  o. kZ u  d hf t,A   5  

 Describe the 'Jhum Cultivation'. 

20. Mh  ,u  , d s v /kZ la j{kh  iz frd ` fr ;u  d ks f l)  d jus d s f y, 

es l s Yl u , oa LVk W y d s iz ; ks x d k o. k Z u d hf t,A 5 

 Describe Meselson and Stahl's experiment to 

prove semiconservative DNA replication. 

v F ko kv F ko kv F ko kv F ko k     

OR    

    fxzfQFk ds iz;ksxksa esa fn, x, :ikarjh; fl)ka r dk o.kZu dhft,A 5 

 Describe transforming principle given in 

Griffith's experiments. 
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21. ,d  u kek a fd r f p=  d h  lgk ;r k l s 'kq Ø k. kq d h la jpu k d k o. kZ u 

d hf t,A 5 

 Describe the structure of a sperm with the help 

of a well labelled diagram. 

S 
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iz'u 21 gS aA  
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• d ` i;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad 
vo'; fy[ksaA 

Before beginning to answer a question, its Serial 

Number must be written. 

• m Ùk j-iq f Lrd k d s c hp  es a [k kyh  iUu k / iUus u N ks Ms a +A 

Don’t leave blank page / pages in your answer-book. 

• mÙkj-iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% 
vko';drkuq lkj gh  f y[ ks a v kS j fy[ kk  m Ù kj u d kV s aA 

Except answer-book, no extra sheet will be given. 

Write to the point and do not strike the written 

answer. 

• ijh {kk F khZ v iuk  jks y  u a0  iz'u-i= ij v o '; fy[ ks aA 

Candidates must write their Roll Number on the 

question paper. 

• d ` i;k  iz'uk s a d k  m Ù kj ns us ls s iw o Z ; g lq f uf 'p r d j y s a f d  iz'u-i=  
iw . kZ o lgh gS] i j h{k k d s m ijk Ur  bl  lEc U/k  es a d ks bZ H kh  nk ok  i j h{k k d s m ijk Ur  bl  lEc U/k  es a d ks bZ H kh  nk ok  i j h{k k d s m ijk Ur  bl  lEc U/k  es a d ks bZ H kh  nk ok  i j h{k k d s m ijk Ur  bl  lEc U/k  es a d ks bZ H kh  nk ok  

L o hd k j u gh a f d ; k  t k; sxkAL o hd k j u gh a f d ; k  t k; sxkAL o hd k j u gh a f d ; k  t k; sxkAL o hd k j u gh a f d ; k  t k; sxkA 

 Before answering the questions, ensure that you 

have been supplied the correct and complete 

question paper, no claim in this regard, will be 

entertained after examination. 
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l kek U; f uns Z'k  %l kek U; f uns Z'k  %l kek U; f uns Z'k  %l kek U; f uns Z'k  % –    

 (i) l H k h iz 'u v fu ok ; Z gS aAl H k h iz 'u v fu ok ; Z gS aAl H k h iz 'u v fu ok ; Z gS aAl H k h iz 'u v fu ok ; Z gS aA     

 (ii) bl ç 'u-i= e s a d q y  21 iz'u gS a]  tk s pkjpkjpkjpkj  [k . Mks a % v ] c ] v ] c ] v ] c ] v ] c ] 

llll  rF kk  nnnn     es a foH kDr  gS aA 

 (iii) [ k. M  &[ k. M  &[ k. M  &[ k. M  & vvvv  d s iz'u la [ ;k  1 es a pk S ngpk S ngpk S ngpk S ng  (i-xiv) o Lrq f u"B 

iz'u gS aA iz'u (i) ls (v) rd  c gq f od Yih; iz'u gS aA iz R ; s d 

iz'u es a pk j f od Yi fn, x, gS a ft lesa ls lghlghlghlgh  fo dYi d k 

p ;u  d hft ,A iz'u  (vi) ls  (xiv) rd  iz R; s d  d k mÙ k j , d, d, d, d  

; k nksnksnksnks 'k Cnks a ; k o kD;k sa es a nhf t,A iz R;s d  iz'u 1 vad  dk 

gSA 

 (iv) [ k. M[ k. M[ k. M[ k. M  &&&&  cccc  es a iz'u  la [; k 2 ls 11 r d  v f r-y ?kw Ù k jkRe d 

iz'u gS aA iz R; s d  iz'u  d s 2 v a d  gS aA 

 (v) [ k. M[ k. M[ k. M[ k. M     &&&& llll  e s a iz'u la [ ;k  12 l s 18 r d  y?k w Ù kjkRed iz'u  

gS aA iz R ;s d  iz'u d s 3 v ad  gS aA 

 (vi) [ k. M[ k. M[ k. M[ k. M         &&&& nnnn  es a iz'u  l a [; k 19 ls 21 r d  nh ?kZ mÙ k jkRe d  

iz'u ga SA iz R; s d  iz'u  d s 5 v a d  gS aA 
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 (vii) [ k. M[ k. M[ k. M[ k. M     &&&& nnnn ¼ nh?k Z mÙ kjkR ed iz'u ½ d s nk snk snk snk s  iz'uk sa e sa v k Urf jd 

f od Yi miyC /k gSA , s ls iz' u ks a esa ls v kid ks nh  x; h NwV e s a 

l s d s oyd s oyd s oyd s oy , d, d, d, d  gh  iz'u d ju k gSA 

General Instructions :        

 (i) All questions are compulsory. 

 (ii) This question paper contains 21 questions, 

which are divided into four Sections : A, B, 

C  and D. 

 (iii) Section – A contains question number 1 

having fourteen (i-xiv) objective type questions. 

Question from (i) to (v) multiple choice type 

questions. Each question carries four options, 

from which choose the correct option. The 

answer of each question from (vi) to (xiv) may be 

given in one or two words or sentences. Each 

question carries 1 mark. 

 (iv) Section – B contains question numbers 2 to 

11 of very short answer type questions and 

carry 2 marks each. 
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 (v) Section – C contains question numbers 12 to 

18 of short answer type questions and carry 

3 marks each. 

 (vi) Section – D contains question numbers 19 to 

21 of long answer type questions and carry 

5 marks each. 

 (vii) Internal choice is available in two questions 

of Section-D (Long Answer Type Questions). 

You have to attempt only one of the given 

choice in such questions. 

[ k.M[ k.M[ k.M[ k.M – vvvv     

SECTION –  A 

¼ oLr q fu "B iz'u½¼ oLr q fu "B iz'u½¼ oLr q fu "B iz'u½¼ oLr q fu "B iz'u½     

(Objective Type Questions) 

  1. (i) f uEu  e s a l s d kS u&lk  fo d k j ¼ fl a Mª ks e ½ e ks u ks lk seh d k 
m nkgj. k  gS \ 1 

  (A) M kmu  

  (B) Dykbu Q s YVj  

  (C) V uZ j 

  (D) bue s a l s d ks bZ u gha  
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  Which of the following syndrome is an 

example of monosomy ? 

  (A) Down 

  (B) Klinefelter 

  (C) Turner 

  (D) None of these  

 (ii) t cM + s jf gr eNy h laH ko r% fd r us fef y; u o" kZ iw o Z f od flr 

gq bZ \    1 

  (A) 320 

  (B) 350 

  (C) 400 

  (D) 500 

  How many mya jawless fish probably 

evolved ? 

  (A) 320 

  (B) 350 

  (C) 400 

  (D) 500 
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 (iii) f uEu fy f[ kr fd l ca/k }k jk M h ,u  , d s nks u ksa jTt q dka s ds 

{k kj v kil es a ;q f Xer gk s rs gS a \  1 

  (A) Q k W LQ ks M kb,LV j  

  (B) , u&Xyk bd ks fl fM d   

  (C) is IV kbM 

  (D) gkbMª k s tu 

  Bases in two strands of DNA are paired by 

which of the followings bond ? 

  (A) Phosphodiester 

  (B) N-glycosidic 

  (C) Peptide 

  (D) Hydrogen 

 (iv) jk bc ks l ks ey  v kj ,u , (rRNA) d ks d k Su v uq ys f[ kr 

d jr k gS \   1 

  (A) v kj ,u  , ikW yh ejs t I 

  (B) v kj ,u  , ikW yh ejs t II 

  (C) v kj ,u  , ikW yh ejs t III 

  (D) M h ,u  , ik W yhe js t 
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  rRNA is transcribed by : 

  (A) RNA polymerase I 

  (B) RNA polymerase II 

  (C) RNA polymerase III 

  (D) DNA polymerase 

 (v) f uEu  e s a ls d kS u H kzw . kd ks'k d s f uH k kxh; ¼d S y kty ½ N ks j ij 

gks r h gS \   1 

  (A) lgk; d ks f 'k d k, ¡ 

  (B) iz fr O;k lka r ¼ ,s f UViks M ky ½ 

  (C) d s Unz h; d ks f 'k d k 

  (D) v a M d ks f'kd k 

  Which of the following is present at the 

chalazal end of the embryo sac ? 

  (A) Synergids  

  (B) Antipodals 

  (C) Central cell 

  (D) Egg cell 
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 (vi) f d l thu  } kjk d w V c)  gk sus o ky s iz ks V hu  e Dd k N s nd d ks 

f u; a f= r d jrs gS a \   1 

  The protein encoded by which gene controls 

corn borer ? 

 (vii) Ý w V ¶ykbZ d k o S Kkfud  uke D;k  gS \ 1 

  What is the scientific name of fruit fly ? 

 (viii) , a Ms f eTe  D; k gS \   1 

  What is Endemism ? 

 (ix) ^ ch ti= k/k kj* D;k  gS \   1 

  What is 'hypocotyl' ? 

 (x) xs gw ¡ d h  ^ fgef xjh*  f d Le fd l jk s x d s iz fr iz fr jks/kd  gS \ 1 

  'Himgiri' variety of wheat is resistant to 

which disease ? 

 (xi) ^ ba V jQ s jkWu * D; k gS \   1 

  What is 'interferon' ? 

 (xii) v e hf c; kfl l d s jk s xt ud  d k  u ke  f yf[ k,A 1 

  Name causative organism of Amoebiasis. 
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 (xiii) Lo iz fr j{k k jks x f d ls d grs gS a \ ,d  m nk gj. k nhf t,A 1 

  What is autoimmune disease ? Give an 

example. 

 (xiv) SCP d k s f oLr kf jr d hf t,A   1 

  Write the full form of SCP. 

[k .M[k .M[k .M[k .M – cccc     

SECTION –  B 

¼ v f r¼ v f r¼ v f r¼ v f r-y ?kw Ù k jk Re d  iz 'u½y ?kw Ù k jk Re d  iz 'u½y ?kw Ù k jk Re d  iz 'u½y ?kw Ù k jk Re d  iz 'u½     

(Very Short Answer Type Questions) 

  2. ck á  fu "ks pu  d ks ifjH kkf "kr d hf t,A bld s uqd lku  cr kb,A 2 

 Define external fertilization. Mention its 

disadvantages. 

  3. ,e s Uls f yTe v kS j d e Ulsfy Te D;k gS \ 2 

 What is amensalism and commensalism ? 
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  4. tS o&m o Z jd k a s esa l; uks c S DVh fj;k  d h H kw fed k D;k  gS \ 2 

 What is the role of cyanobacteria as biofertilizers ? 

  5. fdf.or is; ds mRiknu esa lw{ethoksa dh Hkwfedk fyf[k,A 2 

 Write down the role of microbes for the 

production of fermented beverages. 

  6. ok ;q }k jk ijk fxr Q w yk a s d h fo fH kUu  fo'k s "kr k, ¡ D; k gS a \ 2 

 What are the various characteristics of wind 

pollinated flowers ? 

  7. ih lh v kj d s fo fH kUu  pj.k  D; k gS a \ fd l th ok . kq ls rkiLF k k;h  

Mh  , u , ik W fye js t  i`F kd ~ f d ;k  tkr k gS \ 2 

 What are the various steps of PCR ? From which 

bacteria thermostable DNA polymerase is 

isolated ? 

  8. tSo&izkS|ksf xd h ds fofHkUu v uqla/kku {ks= dkSu &ls gSa \ 2 

 Which are various research areas of 

biotechnology ? 
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  9. la o kgd  e s a Dyk sfua x d jus gs r q iz frd ` fr ;u  d h  m RifÙ k d s c kjs es a 

fy f[ k,A 2 

 Write about origin of replication required to 

facilitate cloning into a vector. 

10. fl d y ls y , uhf e; k d k  v kuq o a f'kd  d k j.k  D; k gS \ 2 

 What is the genetic cause of sickle cell 

anaemia ? 

11. cf g% la d j. k d s ck js ea s f yf[k,A 2 

 Write about outcrossing. 

[ k.M[ k.M[ k.M[ k.M – llll     

SECTION – C 

¼ y?k w Ù kjkR ed  iz'u ½¼ y?k w Ù kjkR ed  iz'u ½¼ y?k w Ù kjkR ed  iz'u ½¼ y?k w Ù kjkR ed  iz'u ½     

(Short Answer Type Questions) 

12. d kc Z u , oa Q k W LQ ks jl pØ  ea s v Ur j Li"V d hf t,A 3 

 Differentiate between carbon and phosphorus 

cycle. 
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13. fe yj d s iz ; ks x d k  o . kZ u  d hft ,A 3 

 Describe Miller's experiment. 

14. ifo = m iou  D;k  gks r s gS a \ ; s d gk¡ ij ik, t krs gS a \ budh 

ts S o f of o/k rk  e sa D; k H kw f ed k gS \ 3 

 What are sacred groves ? Where are they found ? 

What is their role in biodiversity ? 

15. ikjtho h tUr qv ks a ¼ Vª ka l~ts f ud  ,fu eYl½ d h  l kek U; 'k jh jf Ø ; k ,o a 

fo d kl  e s a D; k H kw f ed k  gS \ 3 

 What is the role of transgenic animals in normal 

physiology and development ? 

16. lgt izfrj{kk ds 'kkjhfjd ,oa dksf'kdh ; jks/k D;k gSa \ 3 

 What are the physical and cellular barriers of 

innate immunity ? 
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17. ;k S u l a pkf jr jks xks a (STD) d s 'kq# vk rh  y{k . k D;k  gS a \ bu  

jks xks a l s e q Dr jg l d us d s fy, f d u lk /kk j. k  fu ; eks a d k ikyu  

d juk  p kfg, \ 3 

 What are the early symptoms of STD (Sexually 

Transmitted Disease) ? What simple principles 

should be followed to prevent these diseases ? 

18. Øksekslkse vkS j thu ds O;ogkj esa vUrj dk o.kZu dhft,A 3 

 Describe the differences between the behaviour 

of chromosomes and the genes. 

[k .M[k .M[k .M[k .M – nnnn     

SECTION –  D 

¼ nh ? kZ m Ù k jk Re d  iz'u ½¼ nh ? kZ m Ù k jk Re d  iz'u ½¼ nh ? kZ m Ù k jk Re d  iz'u ½¼ nh ? kZ m Ù k jk Re d  iz'u ½     

(Long Answer Type Questions) 

19. ou ks Ue wyu  ¼ Mh QkW js LV s'ku½  d s D;k  if j. kke  gks rs gS a \ o uh d j.k  

¼ jhQ k W js LV s'ku ½ ds c kjs esa fyf[ k,A 5 

 What are the consequences of deforestation ? 

Write about reforestation. 
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v F ko kv F ko kv F ko kv F ko k     

OR    

    v uq f pr iz ;k sx vk S j v u qj{k .k  } kjk iz k d ` fr d  l alk/ kuk s a dk 

fu Euh d j. k d jus ok ys fo fH kUu d kjd ks a d k o. k Z u d hf t,A 5  

 Describe various factors which cause 

degradation of natural resources by improper 

utilization & maintenance. 

20. ek uo t hu ks e d h  eq [ ; fo'ks "k rk vk s a d k o. kZ u dhf t,A 5 

 Describe the salient features of Human Genome. 

v F ko kv F ko kv F ko kv F ko k     

OR    

    ml lao/kZu esa tgk¡ bZ0 dks ykbZ òf) d j jgk gks] ySDVkst Mkyus 

ij ySd vks is jkWu mRizsfjr gks rk gSA rc dHkh lao/kZu esa yS DVkst 

Mkyus ij ySd vksis jkWu dk;Z djuk D;ksa ca n dj ns rk gS \  5 

 In the medium where E. Coli was growing, 

lactose was added, which induced the lac 

operon. Then why does lac operon shut down 

some time after addition of lactose in the 

medium ? 
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21. L=h  tu u ra = d k v kjs [k h; d k V dk  u keka fd r f p=  cuk b, rF kk  

xH k kZ'k; d h la jpu k d k o . kZu d h ft,A 5 

 Draw a well labelled diagrammatic sectional view 

of the female reproductive system and explain 

the structure of uterus. 

S 


